Opérations avec deux fractions mixtes (E)

Nom:

®

10.

Date:

Calculez chaque résultat.

5%+5§ =
52555 =
5%—22 _
55 -1- =
Lxs? =
50— 5= =
53425 =
ERP
5%+1% =
52415 =

Note:
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Opérations avec deux fractions mixtes (E) Réponses

Nom: Date: Note:

Calculez chaque résultat.

3 46 28 465 _ 230 _ 115
5 9 "5 9 728 ~ 252 126

, s2.gl 421 4 4 180 1 1
8 8 "4 8721 168 14 14
21 11 10 5 1
TR TY TS 7 T 3 T4
3 23 5 18 9
oty =y s o7 T3 54
1 3 4 23 92 23
5 1§XSZ__X__ E —?—7—
7 47 45 2 1
“© 878 T8 8T 38 T 1
1 1 11 5 16 8
gt =gt s 3 =1 %08
132 n o242 121 7
19772 1972 338 19 19
1 21 3 21 2 42 7
Tl = YT T EX3 T T 3 T3
2 1 17 4 21 7
] — 1-—- = — - = — = - =
10 53+ 3 3+3 3 1 7
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